Name:

Dividing Integers

Dividing Rules:

Positive + Positive = Positive 12 +3=4
Negative + Negative = Positive (-12) + (-3) = 4
Negative + Positive = Negative (-12) + 3 =-4
Positive + Negative = Negative 12 + (-3) =-4

[ Find the quotient. )
" 190 + -10 = > 16 + 1 =

192 + 4 = “0+ 46 =

> 77 = 95 2+ 1 =

7132+ 12 = * 176 + -8 =

> 125 + -25 = 153 + 3 =

H176 + -11 = 0+ 33 =
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Dividing Integers

Dividing Rules:

Positive + Positive = Positive 12 +3=4
Negative + Negative = Positive (-12) + (-3) = 4
Negative + Positive = Negative (-12) + 3 =-4
Positive + Negative = Negative 12 + (-3) =-4

rFind the quotient. )
190 = -10 = -19 216+ 1 = 16

> 192 + 4 = 48 “0+46 =0

> 727 =-1 * 95+ 1 =295

7132 + -12 = -11 8 176 + -8 = -22

125 + -25 = -5 100 153 + 3 = -51

176 = -11 = -16 »0+33=0
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